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p.3  BEME ()
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BEMRE (%)

k1 2104 34 SED A=A KT N7 BMS BAT
=B BT BIX 548.9 74 3.2 9.3 12|  A-5
=8 s 8 TS 547.0 66 3.5 8.5 12|  A-5
=B EER 59391y 599.3 74 3.8 9.8 12| A-5
=8 EE 58 508.2 68 2.6 8.9 12|  A-5
=8 FRAER ZRA 592.6 85 2.8 8.8 12|  A-5
=8 ZiaA T 509.6 89 2.6 8.8 12|  A-5
=B ZRA BAX 601.3 71 2.4 9.8 12|  A-5
=8 ZiaA s 8 568.8 77 2.3 9.0 11]  A-5
=B EER BAX 610.0 70 2.8 8.4 10| A-5
=8 EERE | BT 505.3 87 2.1 8.4 10| A-5
=B BSOS | BEER 545.0 68 3.1 8.6 10| A-5
=8 fEEl Z1iE 590.6 61 1.8 8.3 10| A-5
=B fs B ZRBA 627.9 76 3.2 8.3 10| A-5
=5 BIxX g 547.4 62 3.8 8.0 9] A-5
=B ZRA IR 580.5 64 3.4 8.2 9] A-5
=8 =l ZEA 529.0 61 3.8 8.0 8] A-5
=B EE BIX 512.6 63 3.0 7.7 8] A-b
=5 58 7 573.2 58 3.2 9.0 71 A-4
=B |k T 530.9 59 3.6 8.4 6| A-4
=8 ZaA ¥ 439.8 56 2.0 6.8 6| A-4
=B SO | B 5 5ERE 500.4 53 3.0 7.7 6| A-4
Fi3 550.9 68.7 3.0 8.5 9.7
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RBERME (i)

k1 2104 SED A=A KT 7 BMS BAT
if: ZRA 538.8 86 10.2 12|  A-5
i3 s 8 596.9 78 10.2 12|  A-5
if: ZRA 477.2 73 8.4 12| A-5
i3 BIxX 481.0 74 7.8 12| A5
if: EER 532.9 96 9.3 12|  A-5
i3 ZEA 561.1 70 10.3 12|  A-5
if: EE L 583.4 102 10.7 12|  A-5
i3 TF a 515.9 87 8.3 12| A5
if: ZRA TR 520.3 104 9.0 11]  A-5
i3 ZEA TR 541.6 65 8.2 11]  A-5
if: fs B ZRBA 478.1 62 7.4 11]  A-5
i3 ZEA s 8 476.2 72 7.7 11]  A-5
if: ZRA EEME 554.7 79 8.3 11{ A5
i3 =l s 8 537.2 83 8.6 10| A-5
i =iciE | ZRA 563.4 74 9.3 10 A-5
i3 AR | BER® 505.2 75 7.9 10| A5
if: B 1E fs B 551.9 73 8.4 10| A-5
i3 EE BAX 520.8 78 8.6 10| A5
if: EE BAX 521.8 87 9.0 10| A-5
i3 EE s 8 480.5 63 7.5 9] A-5
Fi5 526.9 79.1 3.3 8.8 11.0

3/3




